= T W R AR

Side box bracket installation guide

BB
parts and components list

s

-, D —
= e =T
S =
=
TR BRI AR THFESCEATERAR .
PALERRS!
M8x65 M8x60 M8x25 side box bracket left side box bracket right )
connecting plat connecting plate side box support
®X2 @X2 @X2 @X1 ®X1 X1

o ZBABHRREBHNER.

The parts below are only needed when installing the Aluminum side box.

SH-

DAL EBHOR DAL EZIR DRELENE

e

M6E & U8R 63 Erd)
M6 Locknut Gasket Side box mounting clips Side box mounting pad Side box mounting bushing
0,12 2,16 03,2 9,2 ©,8

J
s E—

WER—: < I
Step 1: ‘
F T B3F T B B RIR NIIEB L. A
Remove 4 units bolts off fixed rear mudguard by using tool. '
\ ‘ " —F
71 @
oL PR
/ .
9
o N oS
/
(2
\
\_ 2
/ N
1k i attention

1. ZRAIBSAR L RIRA.

Please read the installation instruction carefully before installation.

2. BN B S EHEERE,

Check the fixed bolts on each part periodically.

3. RNEATHRISMEENNE, ENBBEEEWR, URAE,

The bracket is only suitable for the side box which is sold by our offical website, not suitable for other side boxes,please purchase
it carefully to aviod mismatch.




( St B )

installation chart

GHELR .

Installation step 2:

So I XARNFR-INMBX 6 00R 4%, FB4EACB
R TM8 X 65U A .

Pre-tighten the two M8X60 bolts at A, then assemble
the two M8X65 bolts at B

BETER: MRRF (128E3X) .
Recommended tools: ratchet wrench(12#).

Dx2
@42

thj
\\

Installation step 3:
B REBRSMBERZ.
The side box bracket connecting plate is connected
with the foot pedal .

THR: 685, 138RF

Tools: 6# inner hexagon wrench, 13# wrench. $m

Note:Install according to the
left and right markings on the
connection plate of the side box
bradket, tum the flanging down.

One-sided X 1

B30
D SEfR: -U/GIEERI—3LAL One-sided @x1
, LIRE—3LAL.

\
Note: -U / G1 is equippedwith a Oié J’dDd @ X 2
hole in front, Z1is equipped with ne-side
a hole on the back.

I ' =yl
\ One-sided @ X y
$ﬂ1<);;\\

One-sided

O%s]igd @ X 4
O%s%d @ X 6
O%SJigd @ X 8

21 5,1
PR 3,1

One—sided
1
ﬁ%_/ﬂjg% . One—sided @X4

Installation step 4:

A BNEZRBENTR.
This step is only needed when installing the Aluminum side box.

T A 447/, 100K F, 4//

222 B ARG %
iﬁﬂﬁl@%@%ﬁm
Thics plate should be
adjusted to a proper

position before installing
QAluminum side box.

Tools: 4# inner hexagon wrench, 10# open wrench.




	页 1
	页 2

